

Volume 101, Number 5, 2017, Pages 1095-1104

ISSN: 0972-0871

# A NOTE ON A PARAMETERIZED FAMILY OF **QUARTIC THUE EQUATIONS**

# Shexi Chen and Zhigang Li

School of Mathematics and Computational Science Hunan University of Sciences and Technology Xiangtan, 411201 P. R. China

School of Computer Science and Engineering Hunan University of Science and Technology Xiangtan 411201

P. R. China

#### Abstract

In this paper, by the method of Tzanakis, we give all integral solutions of parameterized quartic Thue equation

$$x^4 - 4sx^3y + (12s - 4)x^2y^2 - 8sxy^3 + 4y^4 = 1, \quad s > 18,$$

which are (x, y) = (1, 1), (-1, -1), (1, 0), (-1, 0).

### 1. Introduction

Let  $F(x, y) \in \mathbb{Z}[X, Y]$  be a homogeneous, irreducible polynomial of

Received: October 26, 2016; Revised: November 22, 2016; Accepted: December 11, 2016 2010 Mathematics Subject Classification: 11D25, 11B37, 11J68.

Keywords and phrases: equation, Tzanakis method, Davenport lemma.

Research supported by the National Natural Science Foundation of China (Grant Nos. 61272109; 11571101) and the Natural Science Foundation of Hunan Province (Grant No. 2016JJ2051).

degree  $n \ge 3$ , and let  $\mu$  be a nonzero integer. The equation  $F(x, y) = \mu$  called a *Thue equation* [6] attracts a lot of attention of mathematicians.

Since 1990, Thomas [5] firstly solved a family of Thue equations with positive discriminant, many experts have studied parameterized Thue equations with different degrees such as [2, 3, 7], and so on.

Tzanakis [7] reduced quartic Thue equations of certain type to a system of Pellian equations. Using the method of Tzanakis, Dujella and Jadrijević [2, 3] solved the parameterized Thue equation

$$x^4 - 4sx^3y + (6s + 2)x^2y^2 - 4sxy^3 + y^4 = \mu.$$
 (1.1)

Ziegler [8] studied more general equation

$$x^{4} - 4sx^{3}y - (2ab + 4(a + b)s)x^{2}y^{2} - 4absxy^{3} + a^{2}b^{2}y^{4} = \mu,$$
  
$$\mu \in \{1, -1\}, \qquad (1.2)$$

where  $a, b \in \frac{1}{4}\mathbb{Z}$ ,  $s \in \mathbb{Z}$ . He indicated that when  $a \neq b$ , |a| > |b|, s >

 $7.23 \cdot 10^{10} |a|^{\frac{29+\sqrt{241}}{4}}$ , if equation (1.2) is solvable, then  $\mu = 1$ ; and listed integral solutions to equation (1.2) in the cases of a, b fixed and s sufficiently large.

In this paper, we solve the case a = -2, b = -1 in equation (1.2) without restriction of s large enough, and prove the following theorem:

**Theorem 1.1.** Let (x, y) be an integral solution to equation

$$x^4 - 4sx^3y + (12s - 4)x^2y^2 - 8sxy^3 + 4y^4 = 1, \quad s > 18.$$
 (1.3)

Then (x, y) = (1, 1), (-1, -1), (1, 0), (-1, 0).

# 2. Tzanakis Method and Some Refined Lemmas

Let us follow notations in [8], and put

$$a_0 = 1$$
,  $a_1 = -s$ ,  $a_2 = \frac{6s - 2}{3}$ ,  $a_3 = -2s$ ,  $a_4 = 4$ .

Applying Tzanakis method to (1.3), we have

$$g_2 = \frac{16}{3} - 8s + 4s^2$$
,  $g_3 = -\frac{64}{27} + \frac{16}{3}s - \frac{8}{3}s^2$ .  
 $\rho_1 = -s + \frac{2}{3}$ ,  $\rho_2 = s - \frac{4}{3}$ ,  $\rho_3 = \frac{2}{3}$ .

Then by  $\frac{a_1^2}{a_0} - a_2 \ge \max\{\rho_1, \rho_2, \rho_3\}$  it follows that equation (1.3) is reduced to

$$(s-2)U^2 - sV^2 = -2, \quad (s-1)U^2 - sZ^2 = -1,$$
 (2.1)

where

$$U = x^2 - 2y^2$$
,  $V = x^2 - 4xy + 2y^2$ ,  $Z = x^2 - 2xy + 2y^2$ .

We next discuss Pellian system of  $(s-2)U^2 - sV^2 = -2$  and  $(s-1)U^2 - sZ^2 = -1$ . Observing that if (U, V, Z) is a solution to (2.1), then also  $(\pm U, \pm V, \pm Z)$  is a solution to (2.1), we may assume U, V, Z > 0 without loss of generality.

Let  $(U_n, Z_n)$  be a positive solution of  $(s-1)U^2 - sZ^2 = -1$ . Then

$$Z_n \sqrt{s} + U_n \sqrt{s-1} = (\sqrt{s} + \sqrt{s-1})(2s - 1 + 2\sqrt{s(s-1)})^n$$
$$= (\sqrt{s} + \sqrt{s-1})^{2n+1},$$

and

$$U_n = \frac{1}{2\sqrt{s-1}} \left[ \left( \sqrt{s} + \sqrt{s-1} \right)^{2n+1} - \left( \sqrt{s} + \sqrt{s-1} \right)^{-(2n+1)} \right]. \tag{2.2}$$

Let  $(U'_m, V_m)$  be a positive solution of  $(s-2)U^2 - sV^2 = -2$ . Then

$$V_m \sqrt{s} + U'_m \sqrt{s - 2} = (\sqrt{s} + \sqrt{s - 2})(s - 1 + \sqrt{s(s - 2)})^m$$
$$= \sqrt{2} \left(\frac{\sqrt{s} + \sqrt{s - 2}}{\sqrt{2}}\right)^{2m + 1},$$

and

$$U'_{m} = \frac{1}{\sqrt{2(s-2)}} \left[ \left( \frac{\sqrt{s} + \sqrt{s-2}}{\sqrt{2}} \right)^{2m+1} - \left( \frac{\sqrt{s} + \sqrt{s-2}}{\sqrt{2}} \right)^{-(2m+1)} \right]. \quad (2.3)$$

Let (U, V, Z) be a positive solution to equation (2.1). Thus there exist nonnegative integers m and n, such that  $U = U_n = U'_m$ , that is,

$$\frac{\alpha^{2n+1} - \alpha^{-(2n+1)}}{2\sqrt{s-1}} = \frac{\beta^{2m+1} - \beta^{-(2m+1)}}{\sqrt{2(s-2)}},$$
 (2.4)

where 
$$\alpha = \sqrt{s} + \sqrt{s-1}$$
 and  $\beta = \frac{\sqrt{s} + \sqrt{s-2}}{\sqrt{2}}$ .

Define

$$\Lambda = (2m+1)\log\beta - (2n+1)\log\alpha + \log\left(\frac{\sqrt{2(s-1)}}{\sqrt{s-2}}\right).$$

**Lemma 2.1.** If  $U_n = U_m'$  with m, n positive, then  $1 < \frac{2m+1}{2n+1} < \frac{\log \alpha}{\log \beta}$  and

$$0<\Lambda<\frac{\beta^2}{\beta^2-1}\cdot\beta^{-2(2m+1)}.$$

**Proof.** It is trivial that m > n. Now we can assert  $\beta^{2m+1} < \alpha^{2n+1}$ , which directly yields  $1 < \frac{2m+1}{2n+1} < \frac{\log \alpha}{\log \beta}$ . Otherwise  $\beta^{2m+1} \ge \alpha^{2n+1}$  and  $2\sqrt{s-1} > \sqrt{2(s-2)}$  lead to  $U_n < U_m'$ . Thus we have

$$0 < \Lambda = \log \left( \frac{1 - \alpha^{-2(2n+1)}}{1 - \beta^{-2(2m+1)}} \right) < -\log(1 - \beta^{-2(2m+1)}) < \frac{\beta^2}{\beta^2 - 1} \cdot \beta^{-2(2m+1)}.$$

**Lemma 2.2.**  $U_n \equiv (-1)^n (1 - 2(n+1)s) \pmod{16s^2}$ ,  $U'_m \equiv (-1)^m (1 - m(m+1)s) \pmod{4s^2}$ .

**Proof.** From recurrence relations it follows that

$$U_n = (4s - 2)U_{n-1} - U_{n-2}, \quad U'_m = (2s - 2)U'_{m-1} - U'_{m-2}.$$

We induce on n and m, respectively. The lemma is trivial.

**Lemma 2.3.** If  $U_n = U'_m$  with  $m, n \neq 0$ , then  $m > 1.1547\sqrt{s} - 1$  and  $n > 0.95825\sqrt{s} - 0.91493$ .

**Proof.** From Lemma 2.2,  $U_n = U'_m \pmod{4s^2}$  and thus

$$(-1)^{n}(1-2n(n+1)s) \equiv (-1)^{m}(1-m(m+1)s) \pmod{4s^{2}}.$$

We assume that  $m \le 1.1547\sqrt{s} - 1$  and define  $\mathcal{A} = (-1)^n (1 - 2n(n+1)s) - (-1)^m (1 - m(m+1)s)$ . Then, we have

$$0 < |A| < 3m(m+1)s + 2 < 3(m+1)^2 s.$$

From assumption of m it follows that  $0 < |\mathcal{A}| < 4s^2$ , which contradicts  $\mathcal{A} \equiv 0 \pmod{4s^2}$ . Thus  $m > 1.1547\sqrt{s} - 1$  holds.

Since 
$$1 < \frac{2m+1}{2n+1} < \frac{\log \alpha}{\log \beta}$$
, by Lemma 2.1 and then  $1 < \frac{2m+1}{2n+1} < 1.205$ , we obtain  $n > 0.95825\sqrt{s} - 0.91493$ .

**Lemma 2.4.** Let (U, V, Z) be a positive solution to equation (2.1) with s > 18. Then

$$\left|\sqrt{\frac{s-1}{s}} - \frac{Z}{U}\right| < \frac{1}{U^2 \sqrt{s(s-1)}}, \quad \left|\sqrt{\frac{s-2}{s}} - \frac{V}{U}\right| < \frac{2}{U^2 \sqrt{s(s-2)}}.$$

Proof.

$$\left| Z - \sqrt{\frac{s-1}{s}} U \right| = \frac{\left| Z - \sqrt{\frac{s-1}{s}} U \right| \left| Z + \sqrt{\frac{s-1}{s}} U \right|}{\left| Z + \sqrt{\frac{s-1}{s}} U \right|} < \frac{1}{U\sqrt{s(s-1)}}.$$

Dividing U on both sides of the equation, we obtain the first inequality. We can prove the second inequality by the same technique.

**Lemma 2.5** [1, Theorem 3.2]. If  $a_i$ ,  $p_i$ , q and N are integers for  $0 \le i$   $\le 2$ , with  $a_0 < a_1 < a_2$ ,  $a_j = 0$  for some  $0 \le j \le 2$ , q nonzero and  $N > M^9$ , where  $M = \max_{0 \le i \le 2} \{ |a_i| \}$ , then we have

$$\max_{0 \le i \le 2} \left\{ \left| \sqrt{1 + \frac{a_i}{N}} - \frac{p_i}{q} \right| \right\} > (130N\gamma)^{-1} q^{-\lambda},$$

where

$$\lambda = 1 + \frac{\log(33N\gamma)}{\log(1.7N^2 \prod_{0 \le i < j \le 2} (a_i - a_j)^{-2})},$$

and

$$\gamma = \begin{cases} \frac{(a_2 - a_0)^2 (a_2 - a_1)^2}{2a_2 - a_0 - a_1} & a_2 - a_1 \ge a_1 - a_0, \\ \frac{(a_2 - a_1)^2 (a_1 - a_0)^2}{a_1 + a_2 - 2a_0} & a_2 - a_1 < a_1 - a_0. \end{cases}$$

Applying Lemma 2.3, we have

**Lemma 2.6.** If  $U_n = U'_m$  with m, n nonnegative and s > 512, then m = n = 0.

A Note on a Parameterized Family of Quartic Thue Equations 1101

**Proof.** We assume m, n > 0 and take  $a_0 = -2, a_1 = -1, a_2 = 0, p_0 = V,$   $p_1 = Z, p_2 = U, q = U,$  and  $N = s, M = \max_{0 \le i \le 2} \{|a_i|\} = 2. N > M^9$  implies s > 512.

We have 
$$\gamma = \frac{4}{3}$$
 since  $a_2 - a_1 \ge a_1 - a_0$ . From  $\prod_{0 \le i < j \le 2} (a_i - a_j)^2$   
= 4, we have  $\lambda = 1 + \frac{\log(44s)}{\log(0.425s^2)}$ . If  $2 - \lambda > 0$ ,  $s \ge 104$ . Combining

Lemmas 2.4 and 2.5, we obtain

$$(130N\gamma)^{-1}U^{-\lambda} < \max_{0 \le i \le 2} \left\{ \left| \sqrt{1 + \frac{a_i}{N}} - \frac{p_i}{q} \right| \right\} < \frac{2}{U^2 \sqrt{s(s-2)}}.$$

Taking logarithms and solving for log U yields

$$\log U < \frac{\log(1040s/3) - \frac{1}{2}\log((s-2)s)}{2 - \lambda}.$$
 (2.5)

Note that  $U_n > (4s-3)^n$ ,  $U'_m > (2s-3)^m$ . By Lemma 2.3 it follows that

$$\log U > n \log(4s - 3) > \left(\sqrt{\frac{4}{3}}s - 1\right) \log(4s - 3). \tag{2.6}$$

Thus, we combine (2.5) and (2.6) to deduce  $s \le 141$  which contradicts s > 512. Therefore, the lemma is proved.

Next our aim is to discuss  $18 < s \le 512$ . We will employ Baker's method (cf. an improvement of Matveev [4]) to determine the upper bounds of m and n, and use Baker-Davenport reduction method to decide existence of solutions for many cases.

**Lemma 2.7** [4, Corollary 2.3]. Let  $\alpha_1$ ,  $\alpha_2$ , ...,  $\alpha_l$  be algebraic numbers, not 0, 1, and let  $\log \alpha_1$ ,  $\log \alpha_2$ , ...,  $\log \alpha_l$  represent determinations of their logarithms. Let D be the degree over  $\mathbb{Q}$  of the number field  $\mathbb{K} = \mathbb{Q}(\alpha_1, \alpha_2, ..., \alpha_l)$ , let  $b_1, b_2, ..., b_l$  be rational integers. Define  $B = \mathbb{Q}(\alpha_1, \alpha_2, ..., \alpha_l)$ 

 $\max\{|b_1|, |b_2|, ..., |b_l|\}$ , and  $A_i = \max\{Dh(\alpha_i), |\log(\alpha_i)|, 0.16\}$ ,  $(1 \le i \le l)$ , where  $h(\alpha)$  denotes the absolute logarithmic Weil height of  $\alpha$ . Assume that the number  $\Lambda = b_1 \log \alpha_1 + b_2 \log \alpha_2 + \cdots + b_l \log \alpha_l$  does not vanish, then

$$|\Lambda| \ge \exp\{-C(l, \chi)D^2A_1A_2\cdots A_l\log(eD)\log(eB)\},$$

where  $\chi = 1$  if  $\mathbb{K} \subset \mathbb{R}$  and  $\chi = 2$  otherwise, and

$$C(l, \chi) = \min \left\{ \frac{1}{\chi} \left( \frac{1}{2} el \right)^{\chi} 30^{l+3} l^{3.5}, 2^{6l+20} \right\}.$$

Recall

$$\Lambda = (2m+1)\log\beta - (2n+1)\log\alpha + \log\left(\frac{\sqrt{2(s-1)}}{\sqrt{s-2}}\right).$$

We apply Lemma 2.7 to  $\Lambda$ . It is obvious that  $l=3, \ \chi=1, \ D=4, \ b_1=2m+1, \ b_2=-(2n+1), \ b_3=1, \ \alpha_1=\alpha, \ \alpha_2=\beta, \ \alpha_3=\frac{\sqrt{2(s-1)}}{\sqrt{s-2}}.$  Accordingly we obtain that  $B=2m+1, \ h(\alpha_1)=\frac{1}{2}\log\alpha, \ h(\alpha_2)=\frac{1}{2}\log\beta, \ h(\alpha_3)=\frac{1}{4}\log(2(s-1)(s-2)),$  and therefore  $A_1=2\log\alpha, \ A_2=2\log\beta, \ A_3=\log(2(s-1)(s-2)).$ 

A direct computation by Lemma 2.7 shows that

$$C(3, 1) = \min\left\{\frac{1}{2}3e \cdot 30^6 3^{3.5}, 2^{38}\right\} = 1.39007 \cdot 10^{11},$$

and

$$\log \Lambda \ge -2.12295 \cdot 10^{13} \cdot \log \alpha \log \beta \log(2(s-1)(s-2)) \log((2m+1)e). \tag{2.7}$$

By Lemma 2.1, we have

$$\log \Lambda < \log \frac{\beta^2}{\beta^2 - 1} - 2(2m + 1)\log \beta < 0.03 - 2(2m + 1)\log \beta. \quad (2.8)$$

A Note on a Parameterized Family of Quartic Thue Equations 1103 Combining (2.7) and (2.8), we have

$$\frac{2(2m+1)\log\beta - 0.03}{\log((2m+1)e)} < 2.12295 \cdot 10^{13}\log\alpha\log\beta\log(2(s-1)(s-2)).$$

For  $18 < s \le 512$ , we solve the above inequality to get  $m < 1.84544 \cdot 10^{15}$ .

**Lemma 2.8** [3]. Assume that M' is a positive integer. Let  $\frac{p}{q}$  be the convergent of the continued fraction expansion of  $\kappa$  such that q > 10M' and let  $\varepsilon = \|\mu'q\| - M' \cdot \|\kappa q\|$ , where  $\|\vartheta\|$  denotes the distance from  $\vartheta$  and its nearest integer. If  $\varepsilon > 0$ , then there is no solution of the inequality

$$0 < m'\kappa - n' + \mu' < AB^{-m'}$$

in integers m' and n' with  $\frac{\log(Aq/\epsilon)}{\log B} \le m' \le M$ .

We put

$$\kappa = \frac{\log \beta}{\log \alpha}, \quad \mu = \frac{\log \sqrt{\frac{2(s-1)}{s-2}}}{\log \alpha}, \quad A = \frac{\beta^2}{(\beta^2 - 1)\log \alpha}, \quad B = \beta^2,$$

with m' = 2m + 1, n' = 2n + 1, and  $M' = 1.84544 \cdot 10^{15}$ . By running PARI/GP program, we can reduce the size of the bound of m to 15. Thus the left work is to check some special cases for m.

## 3. Proof of Theorem 1.1

In Section 2, we actually prove that  $U_n = U'_m$  holds if and only if m = n = 0 whether s > 512 or  $s \le 512$ . So equation (2.1) admits the only trivial positive solution (U, V, Z) = (1, 1, 1). By assumptions on U, V, Z > 0 we know  $(U, V, Z) = (\pm 1, \pm 1, \pm 1)$  are all integral solutions to (2.1).

We look back  $x^2 - 2y^2 = \pm 1$ ,  $x^2 + 4xy + 2y^2 = \pm 1$ ,  $x^2 - 2xy + 2y^2$ 

=  $\pm 1$ . Note that  $x^2 - 2xy + 2y^2 = (x - y)^2 + y^2 = \pm 1$ . Hence  $y = \pm 1$  and x - y = 0, or  $x - y = \pm 1$  and y = 0, which can verify (x, y) = (1, 1), (-1, -1), (1, 0), (-1, 0).

So, the theorem is proved.

## Acknowledgement

The authors thank the anonymous referees for their valuable suggestions which led to the improvement of the manuscript.

#### References

- [1] M. A. Bennett, On the number of solutions of simultaneous Pell equations, J. Reine Angew. Math. 498 (1998), 173-199.
- [2] A. Dujella, A family of quartic Thue inequalities, Acta Arith. 111 (2004), 61-76.
- [3] A. Dujella and B. Jadrijević, A parametric family of quartic Thue equations, Acta Arith. 101 (2002), 159-170.
- [4] E. Matveev, An explicit lower bound for a homogeneous rational linear form in logarithms of algebraic numbers II, Izv. R Math 64 (2000), 1217-1269 (in Russian).
- [5] E. Thomas, Complete solutions to a family of cubic Diophantine equations, J. Number Theory 34 (1990), 235-250.
- [6] A. Thue, Über Annaherungswerte algebraischer Zahlen, J. Reine Angew. Math. 135 (1909), 284-305.
- [7] N. Tzanakis, Explicit solution of a class of quartic Thue equations, Acta Arith. 64 (1993), 271-283.
- [8] V. Ziegler, On a certain family of quartic Thue equations with three parameters, Glas. Mat. 41 (2006), 9-30.